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① Ca) y
- 3=5(x- z)

( b ) y
- 3=-41×-2) } same point 13,2)M normal = - reciprocal

② Ca) Ave rate O
=
f- (4) - fl- z)

C- 2,4] =-=-D

(b) f
'

Ci ) = lim fc-ithn-f.li;no[CtthK4(Ith )) - f- 3)h → o T
= thing 1t2hthh3= Inigo hlh = lingo h - 2=-20

(C) f- (1) =-3 f
'

Ci ) = - 2 →yt3=-2Cx\
③ Ca) avg.zr.aytgo.fm#j4=h4-I--⑤

(b) flog = thing
.Hoth) = ?

off co) = thing + flothy-f-hi.ofothi.tt#-- line. =L;%h- i

① flip = lingo.HothL Inigo .
'

"th = Lingo. -t.li:O. - I =①

.

.

.

lim Hothy = - I g
i. e f to ) = - l

h -so -

The graph of f-Cx) is smooth at X = O

(c) Flo) = o f'lo ) = - I
j y-



④ a) average rates =

Flo) - fl- 4)
[-4
,
o ] TE

= "8)
= ②

b) f
'

f- z ) = thing ff2th)h-f# = ?

Off C- 2) = thing+ ft2th)- = lingo, -t2thKF4#
÷ tinny,

-

= thing, HATIh

= Limo+ 4 - h = I

D f!C- z) = Iim H-2th)-fC# = thing, 2f2th)-[-4#h-25 h

= lim -

4t2hht4_ = thing
,
2nd = Lingo. 2 = I

h→o-

←

a

. ht info ff2th)h DnE ft-2) ONE
-

Thereisacorne.ro/-X=-2-
C) The graph of f does not have a tangent at x= -z
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⑤ a) g
'

Cz) = Lingo odathy-g.fi?oIh--zt-
h

= him
.
It, - IIIT) = thins

.
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h
→ h

Common -

- tins
. n,

=

h

b) gin -

- fin
. 9"E=fi→mx

x - Z

= lim
= t.in
.
¥2

X-32 x - z

⑥

=
z

-" .¥, = fish =

i) PC- i) = Sec C-Fi ) - In (1) = - I - O = - I

ii ) fire , Pan -
- fine , -

- fig,*tXt I
= fig ,

X - I = - l - I = - 2

iii ) Ling
.,
past PC-t )

• : p is not continuous at X = - I


